# UNIVARIATE SHEPARD-LAGRANGE INTERPOLATION 

Radu T. Trîmbiţaş<br>Faculty of Mathematics and Computer Science, "Babeş-Bolyai" University, Cluj-Napoca, Romania

(Received July 15, 2002)

Abstract. In this paper we study the univariate Shepard-Lagrange interpolation operator

$$
S_{n, \mu}^{L, m}(Y ; f ; x):=S_{n, \mu}^{L, m}(f ; x)=\frac{\sum_{k=0}^{n}\left|x-y_{n, k}\right|^{-\mu}\left(L_{m} f\right)\left(x ; y_{n, k}\right)}{\sum_{k=0}^{n}\left|x-y_{n, k}\right|^{-\mu}}
$$

where $\left(y_{n, k}\right)$ are the interpolation nodes and $\left(L_{m} f\right)\left(x ; y_{n, k}\right)$ is the Lagrange interpolation polynomial with nodes $y_{n, k}, y_{n, k+1}, \ldots, y_{n, k+m}$. Then we give error estimations for various distribution of interpolation nodes.

## 1. INTRODUCTION

Let $Y=\left(y_{n, i} \in I, i=\overline{0, n}, n \in \mathbb{N}\right)$ be an infinite matrix where each row is a set of distinct nodes in $I=[-1,1]$. For $f \in C^{r}(I)$ the Shepard-Taylor operator is defined by

$$
S_{n, \mu}^{r}(Y ; f ; x)=\frac{\sum_{k=0}^{n}\left(\left|x-y_{n, k}\right|^{-\mu} \sum_{j=0}^{r} f^{(j)}\left(y_{n, k}\right) / j!\left(x-y_{n, k}\right)^{j}\right)}{\sum_{k=0}^{n}\left|x-y_{n, k}\right|^{-\mu}}
$$

where $\mu=r+\alpha$, and $\alpha>1$ fixed.
The operator $S_{n, \mu}^{r}$ was introduced by Shepard in [9]. The operator $S_{n, \mu}^{r}$ and his properties were studied in $[4,6,2,5]$.

We put $y_{n, n+k}=y_{n, n-m+k-1}$ for $k=\overline{1, n}$.
The aim of this paper is to study the univariate Shepard-Lagrage operator

$$
\begin{equation*}
S_{n, \mu}^{L, m}(Y ; f ; x):=S_{n, \mu}^{L, m}(f ; x)=\frac{\sum_{k=0}^{n}\left|x-y_{n, k}\right|^{-\mu}\left(L_{m} f\right)\left(x ; y_{n, k}\right)}{\sum_{k=0}^{n}\left|x-y_{n, k}\right|^{-\mu}} \tag{1}
\end{equation*}
$$

where $m \in \mathbb{N}, m<n$ is prescribed and $\left(L_{m} f\right)\left(x ; y_{n, k}\right)$ is the Lagrange interpolation polynomial with the nodes $y_{n, k}, y_{n, k+1}, \ldots, y_{n, k+m}$.

A bivariate variant of this operator was treated in [1].
The Shepard-Lagrange operator has the following properties

$$
\begin{aligned}
\left(S_{n, \mu}^{L, m}\right)\left(f ; y_{n, k}\right) & =f\left(y_{n, k}\right), \quad k=\overline{0, n} \\
\left(S_{n, \mu}^{L, m}\right)\left(e_{i} ; x\right) & =e_{i}(x)
\end{aligned}
$$

where $e_{i}(x)=x^{i}$, for $i=\overline{0, m}$.
Gopengauz proved in [7], that for $|a|<1$ there exists a continuous function on $I$ for which there are no algebraic polynomial $P_{n}$ of degree less than or equal $n$ such that

$$
\begin{equation*}
\left|f(x)-P_{n}(x)\right|=O\left\{\omega\left(f ; \frac{\sqrt{1-x^{2}}}{n} \varepsilon\left(1-x^{2}\right)+\frac{\delta\left(n^{-1}\right)}{n^{2}}\right)\right\} \tag{2}
\end{equation*}
$$

and

$$
\begin{equation*}
\left|f(x)-P_{n}(x)\right|=O\left\{\omega\left(f ; \frac{\varepsilon(|x-a|)+\delta\left(n^{-1}\right)}{n}\right)\right\} \tag{3}
\end{equation*}
$$

$\forall n \in \mathbb{N}, \forall x \in I$, where $\varepsilon(u) \downarrow 0$ and $\delta(u) \downarrow 0$, when $u \rightarrow 0$.
Della Vechia and Mastroianni have obtained in [4] estimations of above type for Shepard-Taylor operators. We shall prove such estimations hold for Shepard-Lagrange operators.

## 2. ERROR ESTIMATION FOR SHEPARD-LAGRANGE OPERATOR

If $f \in C^{p}[a, b], p \in \mathbb{N}, p<n$, and $\left(L_{n} f\right)$ is the $n$-th degree Lagrange interpolation polynomial with nodes $x_{0}, \ldots, x_{n}$, and $x, x_{0}, \ldots, x_{n} \in[a, b]$, we have the following estimation of the interpolation error (see [3])

$$
\begin{equation*}
\left|f(x)-\left(L_{n} f\right)(x)\right| \leq M^{p+1}\left(1+\Lambda_{n}\right) \frac{(b-a)^{p}}{n(n-1) \ldots(n-p+1)} \omega\left(f^{(p)} ; \frac{b-a}{n-p}\right) \tag{4}
\end{equation*}
$$

where $\omega(f ;$.$) is the usual modulus of continuity for f$, and $\Lambda_{n}$ is the Lebesgue constant associated to the points $x_{k}$ and to the interval $[a, b]$.

Let $y_{n, d}$ be the closest point to $x$. We have from (1) and (4)

$$
\begin{align*}
& \left|f(x)-S_{n, \mu}^{L, m}(f ; x)\right| \leq \sum_{k=0}^{n}\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|f(x)-\left(L_{m} f\right)\left(x ; y_{n, k}\right)\right| \\
& \leq \frac{M^{p+1}\left(1+\Lambda_{m}\right)}{m(m-1) \ldots(m-p+1)}\left(\sum_{k=0}^{d-m}\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|x-y_{n, k}\right|^{p} \omega\left(f^{(p)} ; \frac{\left|x-y_{n, k}\right|}{m-p}\right)+\right. \\
& \sum_{k=d-m+1}^{d}\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|y_{n, k+m}-y_{n, k}\right|^{p} \omega\left(f^{(p)} ; \frac{\left|y_{n, k+m}-y_{n, k}\right|}{m-p}\right)+  \tag{5}\\
& \left.\sum_{k=d+1}^{n}\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|x-y_{n, k+m}\right|^{p} \omega\left(f^{(p)} ; \frac{\left|x-y_{n, k+m}\right|}{m-p}\right)\right) \\
& \leq \frac{M^{p+1}\left(1+\Lambda_{m}\right)}{m(m-1) \ldots(m-p+1)}\left(S_{1}+S_{2}+S_{3}\right) .
\end{align*}
$$

Remark 1. Since $m$ is fixed, $\Lambda_{m}$ is bounded.

In the sequel one gives estimations of the approximation error for various distribution of knots.

### 2.1. THE CASE OF ZEROS OF ORTHOGONAL POLYNOMIALS

This case is treated for the simple Shepard operator $S_{n, \mu}^{0}$ in [2], and the proof follows the ideas from that paper.

Let $\left(p_{n}(w,).\right)$ be the sequence of orthogonal polynomials on $I$ with respect to the weight $w$ defined by

$$
w(x)=\psi(x) \prod_{k=0}^{s+1}\left|x-t_{k}\right|^{\gamma_{k}}, \quad x \in I
$$

where $-1=t_{0}<t_{1}<\ldots<t_{s}<t_{s+1}=1, \gamma_{k}>-1, k=\overline{0, s+1}$, and the function $\psi$ is such that $\int_{0}^{1} \omega(\psi, \delta) \delta^{-1}<\infty$. Let $x_{n, i}=x_{n, i}(w)$ be the zeros of $p_{n}(w,$.$) and we$ suppose $x_{n, 1}<x_{n, 2}<\ldots<x_{n, n}$. We set $x_{n, i}=\cos \theta_{n, i}, i=\overline{0, n+1}$, where $x_{n, 0}=-1$, $x_{n, n+1}=1$ and $\theta_{n, i} \in[0, \pi]$. We shall use a result of Nevai [8, page 166]

$$
\begin{equation*}
\theta_{n, i}-\theta_{n, i+1} \sim \frac{1}{n} \tag{6}
\end{equation*}
$$

The matrix $Y$ has on his rows the zeros of $\left(1-x^{2}\right) p_{n}(w ; x)$.
Theorem 2. If $f \in C^{p}(I)$ and $\mu>p+1$, we have

$$
\begin{equation*}
\left|f-\left(S_{n, \mu}^{L, m}\right)(f ; x)\right| \leq \frac{\left(1-x^{2}\right)^{p}}{n^{\mu-1}} \int_{1 / n}^{1} \frac{\omega\left(f^{(p)}, t \sqrt{1-x^{2}}\right)}{t^{\mu-p}} d t \tag{7}
\end{equation*}
$$

Proof. The relation (6) implies

$$
\begin{aligned}
& \left|x-y_{n, d}\right| \quad \leq \frac{\text { const }}{n} \sqrt{1-x^{2}} \\
& \left|x-y_{n, k}\right| \geq \frac{\text { const }}{n}|k-d| \sqrt{1-x^{2}}
\end{aligned}
$$

Also, for $\delta_{2} \geq \delta_{1}$, we have

$$
\frac{\omega\left(f ; \delta_{2}\right)}{\delta_{2}} \leq 2 \frac{\omega\left(f ; \delta_{1}\right)}{\delta_{1}}
$$

Now it follows estimations for $S_{1}, S_{2}$ and $S_{3}$ (introduced in (5)).

$$
\begin{gather*}
S_{1} \leq C\left(1+\frac{1}{m}\right)\left(\frac{\sqrt{1-x^{2}}}{n}\right)^{p} \sum_{k=0}^{d-m} \frac{1}{|k-d|^{\mu-p}} \omega\left(f^{(p)} ; \frac{|k-d|}{n} \sqrt{1-x^{2}}\right)  \tag{8}\\
S_{2} \leq C m^{p}(m-1)\left(\frac{\sqrt{1-x^{2}}}{n}\right)^{p} \omega\left(f^{(p)} ; \frac{\sqrt{1-x^{2}}}{n}\right) \tag{9}
\end{gather*}
$$

Since $\left|x-y_{n, k+m}\right| \leq\left|x-y_{n, k}\right|+c \frac{m}{n}$ and

$$
\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|x-y_{n, k+m}\right|^{p} \leq \sum_{l=0}^{p}\binom{p}{l} \frac{\left(\frac{m}{n} \sqrt{1-x^{2}}\right)^{l+\mu}}{\left(\frac{|k-d|}{n} \sqrt{1-x^{2}}\right)^{\mu-p+l}}
$$

$$
\leq\left(\frac{\sqrt{1-x^{2}}}{n}\right)^{p} m^{p} \frac{(p+1)}{|k-d-1|^{\mu-p}}
$$

we have

$$
\begin{aligned}
& S_{3} \leq\left(\frac{\sqrt{1-x^{2}}}{n}\right)^{p} m^{p}(p+1) \sum_{k=d+1}^{n} \\
& \frac{1}{|k-d-1|^{\mu-p}}\left(\left(1+\frac{1}{m}\right) \omega\left(f^{(p)} ;\left|x-y_{n, k}\right|\right)\right. \\
&+\omega\left(f^{(p)} ; \frac{\sqrt{1-x^{2}}}{n}\right) .
\end{aligned}
$$

But, for $\mu-p>1, \sum_{k=d+1}^{n}|k-d-1|^{p-\mu}$ is bounded and we obtain

$$
\begin{gather*}
S_{3} \leq\left(\frac{\sqrt{1-x^{2}}}{n}\right)^{p}\left(C _ { 1 } \sum _ { k = d + 1 } ^ { n } \frac { 1 } { | k - d - 1 | ^ { \mu - p } } \left(\omega\left(f^{(p)} ;\left|x-y_{n, k}\right|\right)+\right.\right. \\
\left.C_{2} \omega\left(f^{(p)} ; \frac{\sqrt{1-x^{2}}}{n}\right)\right) . \tag{10}
\end{gather*}
$$

Since

$$
\omega\left(f^{(p)} ; \frac{\sqrt{1-x^{2}}}{n}\right) \leq \frac{1}{n^{\mu-p-1}} \int_{1 / n}^{1} \frac{\omega\left(f^{(p)} ; t \sqrt{1-x^{2}}\right)}{t^{\mu-p}} d t
$$

and

$$
\begin{aligned}
S_{1}+S_{2}+S_{2} \leq & \left(\frac{\sqrt{1-x^{2}}}{n}\right)^{p}\left[C_{1} \omega\left(f^{(p)} ; \frac{\sqrt{1-x^{5}}}{n}\right)+\right. \\
& \left.C_{2} \sum_{k=2}^{n} \frac{1}{|k-d|^{\mu}} \omega\left(f^{(p)} ; \frac{|k-d|}{n} \sqrt{1-h^{2}}\right)\right],
\end{aligned}
$$

(7) follows.

### 2.2. OTHER DISTRIBUTIONS

We consider the distribution given by $x=x_{p}:[0,1] \mapsto[-1,1]$

$$
x=x(\theta)=\left\{\begin{array}{cl}
(2 \theta)^{2 p+1}-1, & \theta \in\left[0, \frac{1}{2}\right]  \tag{11}\\
-(2-2 \theta)^{2 p+1}+9, & \theta \in\left[\frac{1}{2}, 1\right]
\end{array}\right.
$$

and $X=\left(y_{n, k}=x(k / n), k=\overline{0, n}, n \in \mathbb{N}\right)$.
This distribution is considered in [4] and we follow the ideas from that paper.

Theorem 3. If $f \in C^{q}(I)$ and $\mu>q+\alpha, \alpha>1$, then

$$
\begin{equation*}
\left|f-\left(S_{n, \mu}^{L, m}\right)(f ; x)\right| \leq A \frac{\left[\left(1-x^{2}\right)^{2 p /(2 p+1)}\right]^{q}}{n^{\mu-1}} \int_{1 / n}^{1} \frac{\omega\left(f^{(q)}, t\left(1-x^{2}\right)^{2 p /(6 p+1)}\right)}{t^{\mu-q}} d t \tag{12}
\end{equation*}
$$

where $A$ is a constant depending on $p, q, \mu, m$ and $\alpha$.
Proof. The function $x$ given by (11) is increasing on $[0,1]$ and $x^{\prime}$ is convex increasing on $[0,1 / 2]$ and convex decreasing on $[1 / 2,0]$. It holds

$$
\begin{equation*}
x^{\prime}(\theta) \leq 2(2 p+1)\left(1-x^{2}\right)^{2 p /(2 p+1)} \tag{13}
\end{equation*}
$$

Because the points are symmetric with respect to the origin, we need to prove the theorem only for $x>0$ and $x \neq y_{n, k}, k=\overline{0, n}$. Thus, $x=x(\theta), \theta \in\left[\frac{1}{2}, 1\right]$ and we shall suppose $y_{n, d-1}<x<y_{n, d}, y_{n, d}$ being the closest point to $x$. Also,

$$
\begin{equation*}
\left|x-y_{n, d}\right|=\left|\int_{0}^{\frac{d}{n}} x^{\prime}(u) d u\right| \leq \frac{x^{\prime}(\theta)}{n} \tag{14}
\end{equation*}
$$

Let us estimate now the error.

$$
\left|f(x)-S_{n, \mu}^{L, m}(X ; f ; x)\right| \leq \frac{M^{q+1}\left(1+\Lambda_{m}\right)}{m(m-1) \ldots(m-q+1)}\left(S_{1}+S_{3}+S_{3}+S_{4}\right)
$$

where

$$
\begin{align*}
& S_{1}=\sum_{0<y_{n, k} \leq y_{n, d-m-1}}\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|x-y_{n, k}\right|^{q} \omega\left(f^{(q)} ; \frac{\left|x-y_{n, k}\right|}{m-q}\right), \\
& S_{2}=\sum_{y_{n, d-m-1}<y_{n, k} \leq y_{n, d-1}}\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|y_{n, k+m}-y_{n, k}\right|^{q} \omega\left(f^{(q)} ; \frac{\left|y_{n, k+m}-y_{n, k}\right|}{m-q}\right),  \tag{15}\\
& S_{3}=\sum_{y_{n, d}<y_{n, k} \leq y_{n, n}}\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|x-y_{n, k+m}\right|^{q} \omega\left(f^{(q)} ; \frac{\left|x-y_{n, k+m}\right|}{m-q}\right)
\end{align*}
$$

and

$$
S_{4}=\sum_{y_{n, k} \leq 0}\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|x-y_{n, k}\right|^{q} \omega\left(f^{(q)} ; \frac{\left|x-y_{n, k}\right|}{m-q}\right) .
$$

When $0<x_{k} \leq x_{d-m-1}$ we have

$$
\begin{equation*}
\left|x-y_{n, k}\right|=\int_{\frac{k}{n}}^{\theta} x^{\prime}(u) \geq x^{\prime}(\theta) \frac{d-1-k}{n} \tag{16}
\end{equation*}
$$

and

$$
\frac{\omega\left(f^{(q)} ; \frac{\left|x-y_{n, k}\right|}{m-p}\right)}{\left|x-y_{n, k}\right|} \leq 2\left(1+\frac{1}{m-p}\right) \frac{\omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)(d-k-1)}{n}\right)}{\frac{x^{\prime}(\theta)(d-k-1)}{n}}
$$

and thus

$$
\begin{equation*}
S_{1} \leq C_{1} \sum_{k=[n / 2]+1}^{d-m-1}\left(\frac{x^{\prime}(\theta)}{n}\right)^{q} \frac{\omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)(d-k-1)}{n}\right)}{(d-k-1)^{\mu-q}} \tag{17}
\end{equation*}
$$

where $C_{1}$ is a constant which depends on $p, q, \mu, m$ and $\alpha$.
To estimate $S_{2}$ we note that

$$
\left|y_{n, k+m}-y_{n, k}\right|=\int_{\frac{k}{n}}^{\frac{k+m}{n}} x^{\prime}(u) d u \leq \frac{m}{n} x^{\prime}\left(\frac{k}{n}\right) \leq \frac{m}{n} x^{\prime}(\theta)
$$

and

$$
\omega\left(f^{(q)} ; \frac{\left|y_{n, k+m}-y_{n, k}\right|}{m-1}\right) \leq 2\left(1+\frac{1}{m-p}\right) \omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)}{n}\right)
$$

These inequalities lead us to

$$
\begin{equation*}
S_{2} \leq\left(\frac{x^{\prime}(\theta)}{n}\right)^{q} C_{2}(m-1) \omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)}{n}\right) \tag{18}
\end{equation*}
$$

For $S_{3}$ we have $y_{n, k} \geq y_{n, d}$ and

$$
\begin{aligned}
\left|x-x_{k}\right| & =\left|\int_{\theta}^{k / n} x^{\prime}(u) d u\right|>\int_{\theta}^{(\theta+k / n) / 2} x^{\prime}(u) d u \\
& =\frac{k / n-\theta}{2} x^{\prime}\left(\frac{k / n+\theta}{2}\right)>\frac{k / n-\theta}{2} x^{\prime}\left(\frac{\theta+1}{2}\right) \\
& =\left(\frac{k}{n}-\theta\right) 2^{-2 p-1} x^{\prime}(\theta)
\end{aligned}
$$

(see also [4] for this estimation).
Hence

$$
\left|x-x_{k}\right|>\frac{k-d}{n} 2^{-2 p-1} x^{\prime}(\theta) .
$$

But

$$
\begin{aligned}
\left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu}\left|x-y_{n, k+m}\right| \leq & \left|\frac{x-y_{n, d}}{x-y_{n, k}}\right|^{\mu} \sum_{l=0}^{q}\binom{q}{l}\left|x-y_{n, k}\right|^{q-l}\left|y_{n, k}-y_{n, k+m}\right|^{l} \\
& \leq\left(\frac{x^{\prime}(\theta)}{n}\right)^{\mu} \sum_{l=0}^{q}\binom{q}{l} \frac{\left(\frac{m}{n} x^{\prime}(\theta)\right)}{\left|\frac{k-d}{n} x^{\prime}(\theta)\right|^{\mu-q+l}} \\
& \leq C_{3}\left(\frac{x^{\prime}(\theta)}{n}\right)^{q} \frac{1}{\left|\frac{k-d}{n}\right|^{\mu-q}} ;
\end{aligned}
$$

so

$$
\begin{aligned}
S_{3} \leq & \left(\frac{x^{\prime}(\theta)}{n}\right)^{q}\left(C_{3} \sum_{k=d}^{n} \frac{\omega\left(f^{(q)} ; \frac{|k-d|}{n} x^{\prime}(\theta)\right)}{|k-d|^{\mu-q}}\right. \\
& \left.+C_{4} \omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)}{n}\right) \sum_{k=d}^{n} \frac{1}{|k-d|^{\mu-q}}\right) .
\end{aligned}
$$

Because $\mu-q=\alpha>1, \sum_{k=d}^{n}|k-d|^{\mu-q}$ is bounded and

$$
S_{3} \leq\left(\frac{x^{\prime}(\theta)}{n}\right)^{q}\left(C_{3} \sum_{k=d}^{n} \frac{\omega\left(f^{(q)} ; \frac{|k-d|}{n} x^{\prime}(\theta)\right)}{|k-d|^{\mu-q}}+K \omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)}{n}\right)\right)
$$

We can estimate $S_{4}$ as we do for $S_{1}, S_{2}$ and $S_{3}$ (because of symmetry reason).
Finally, because

$$
\begin{aligned}
S_{1}+S_{2}+S_{3}+S_{4} \leq & \left(\frac{x^{\prime}(\theta)}{n}\right)^{q}\left(K_{1} \sum_{k=2}^{n} \frac{\omega\left(f^{(q)} ; \frac{k}{n} x^{\prime}(\theta)\right)}{\left(\frac{k}{n}\right)^{\mu-q}}\right. \\
& \left.+K_{2} \omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)}{n}\right)\right)
\end{aligned}
$$

and

$$
\omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)}{n}\right) \leq \int_{1 / n}^{1} \frac{\omega\left(f^{(q)} ; \frac{x^{\prime}(\theta)}{n}\right)}{t^{\mu-q}} d t
$$

the conclusion of Theorem results immediately using (13).
For Shepard-Lagrange operators there is also an analogous of (12) for some interior points. Della Vechia and Mastroianni have shown in [4] such a result for ShepardTaylor operators. Let be now the distribution given by

$$
z(\theta)=(2 \theta-1)^{2 p+1}, \quad p \in \mathbb{N}, k=\overline{0, n}, n \text { even }
$$

and the matrix

$$
\begin{equation*}
Z=\left(z_{n, k}=z(k / n)\right) \tag{19}
\end{equation*}
$$

We have

Theorem 4. If $f \in C^{q}(I)$ then

$$
\left|f(x)-S_{n, \mu}^{L, q}(Z ; f ; x)\right| \leq A \frac{\left[|x|^{2 p /(2 p+1)}\right]^{q}}{n^{\mu-1}} \int_{1 / n}^{1} \frac{\omega\left(f^{(q)} ; t|x|^{2 p /(2 p+1)}\right)}{t^{\mu-q}} d t
$$

Proof. $z$ is increasing on $[0,1]$ and $z^{\prime}$ is convex decreasing on $\left[0, \frac{1}{2}\right]$ and convex increasing on $\left[\frac{1}{2}, 1\right]$. For symmetry reason we need to prove the theorem for $x<0$, $x \neq z_{n, k}, k=\overline{0, n}$.

We have

$$
\left|x-z_{n, d}\right|=\left|\int_{\theta}^{d / n} z^{\prime}(u) d u\right| \leq \frac{z^{\prime}(\theta)}{n}
$$

and (13) is replaced by

$$
z^{\prime}(\theta) \leq 2(2 p+1)|x|^{2 p /(2 p+1)} ;
$$

the proof proceeds as for the previous theorem.
In [5] the authors give more general matrix of nodes. Using (4) and techniques from the last-cited paper we can prove analogous of Theorem for those matrices.

Remark 5. In (19), for $p=0$, we obtain equispaced nodes.

## References

[1] Gh. Coman, R. Trîmbiţaş, Shepard operators of Lagrange-type, Studia Univ. "Babeş-Bolyai", Mathematica, vol. XLII, no. 1, (1997), 75-83.
[2] G. Criscuolo, G. Mastroianni, Estimates of the Shepard interpolatory procedure, Acta Math. Hung. 61(1-2)(1993), 79-91.
[3] M. Crouzeix, A. L. Mignot - Analyse numérique des équations différentielles, $2^{e}$ édition, Masson, Paris, Milan, Barcelone, Mexico, 1989.
[4] B. Della Vecchia, G. Mastroianni, Pointwise Simultaneous Approximation by Rational Operators, Journal of Approximation Theory 65 (19991), 140-154.
[5] B. Della Vecchia, G. Mastroianni, Pointwise estimates of rational operators based on general distribution of knots, Facta Universitatis (Niš), Ser. Math. Inform. 6 (1991), 63-78.
[6] B. Della Vecchia, G. Mastroianni - On functions approximations by Shepard-Type operators - a survey, Approximation theory, wavelets and applications (Maratea, 1994) 335-355, NATO Adv. Sci. Inst. Ser. C, Math. Phys. Sci., 454, Kluwer Acad. Publ., Dordrecht, 1995.
[7] I. Gopengauz, A theorem of A.F. Timan on the approximation of functions by polynomials on a finite segment, Math. Notes 1 (1967), 110-116 (English translation).
[8] P. Nevai - Orthogonal Polynomials, Amer. Math. Soc. no. 213, 1979.
[9] D. Shepard, A Two Dimensional Interpolation function for Irregularly Spaced Data, Proc. 23rd Nat. Conf. ACM (1968), 517-523.

